

INTERNATIONAL JOURNAL OF ENGINEERING SCIENCES & RESEARCH TECHNOLOGY

ON THE DISTRIBUTION OF THE ZEROS OF A POLYNOMIAL

B.A.Zargar*, G.M.Wani

ABSTRACT

Let P(z) be a polynomial of degree n with real or complex coefficients. In this paper, we shall obtain several generalizations and extensions of a well-known result of Enestrom and Kakeya about the location of the zeros of a polynomial.

KEYWORDS Zeros, Coefficients, Enestron-Kakeya Theorem. Mathematics Subject Classification(2000) 30C10,30C15.

INTRODUCTION

Introduction and Statement of Results

The following well-known result in the theory of distribution of the zeros of polynomials is due to Enestrom and Kakeya (for reference see [1])

Theorem A (Enestrom-Kakeya). If

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

Is a polynomial of degree n such that

$$a_n \ge a_{n-1} \ge \dots \ge a_1 \ge a_0 > 0$$
 (1)

Then all the zeros of P(z) lie in $|z| \le 1$.

This result was proved by Enestrom[5], independently by Kakeya[9] and Hurwitz[7].we now apply this result to P(tz) to obtain the following more general result:

Theorem B. If

 $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$

Is a polynomial of degree n such that

$$a_n t^n \ge a_{n-1} t^{n-1} \ge \dots \ge a_1 t \ge a_0 > 0$$
⁽²⁾

Then all the zeros of P(z) lie in $|z| \le t$.

This theorem has been extended and sharpened in various ways(see Krishnala[10], Cargo and Shisha [3] Joyal, Labelle and Rehman [8], Govil and Rahman [6] etc.).

As a compact generalization of Theorems A and B Aziz and Mohammad [1] have used Schwarz lemma and proved:

Theorem C. If

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

Is a polynomial of degree n with real and positive coefficients . If $t_1 \ge t_2 \ge 0$ Can be found such that

$$a_r t_1 t_2 + a_{r-1} (t_1 - t_2) + a_{r-2} \ge 0, \qquad r = 1, 2, ..., n+1.$$
 (3)

Where $(a_{-1} = a_{n+1} = 0)$ then all the zeros of P(z) lie in $|z| \le t_1$.

For $t_2 = 0$, this reduces to Theorem B and for $t_1 = 1, t_2 = 0$, this reduces to Enestrom-Kakeya Theorem. Taking monotonicity of the coefficients of a polynomial Joyal, Labelle and Rahman [8] proved: **Theorem D.** Let

http://www.ijesrt.com

© International Journal of Engineering Sciences & Research Technology

(6)

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

Is a polynomial of degree n such that

$$a_n \ge a_{n-1} \ge \dots \ge a_1 \ge a_0$$

then all the zeros of P(z) lie in

$$|z| \le \frac{a_n - a_0 + |a_0|}{|a_n|}$$
 (4).

As a generalization of Theorem D. Dewan and Bidkham [4] have obtained the following result:

Theorem E. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

be a polynomial of degree n, such that t>0 and $0 \le k \le n$,

$$a_{n}t^{n} \leq a_{n-1}t^{n-1} \leq \dots \leq t^{k}a_{k} \geq t^{k-1}a_{k-1} \geq \dots \geq a_{1}t \geq a_{0}$$
(5)

then all the zeros of P(z) lie in the circle $|z| \leq \frac{t}{|a_n|} \left\{ \left(\frac{2a_k}{t^{n-k}} - a_n\right) + \frac{1}{t^n} \left(|a_0| - a_0\right) \right\}.$

The main aim of this paper is to establish a compact generalization of Theorems C and E and an extension of Theorem E. We first present:

Theorem 1.1. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n with real and positive coefficients . If $t_1 \neq 0$ and t_2 be found

such that $t_1 \ge t_2 \ge 0$

$$a_r t_1 t_2 + a_{r-1} (t_1 - t_2) + a_{r-2} \ge 0, \qquad r = 1, 2, ..., n+1.$$
 (7)

and

$$a_r t_1 t_2 + a_{r-1} (t_1 - t_2) + a_{r-2} \le 0, \qquad r = k + 2, \dots, n+1.$$

Where $(a_{-1} = a_{n+1} = 0)$ then all the zeros of P(z) lie in

$$|z| \leq \frac{1}{|a_n|} \left\{ t_1(\frac{2a_k}{t_1^{n-k}} - a_n) + \frac{(t_1 + t_2)}{t_1^n} (|a_0| - a_0) + t_2(\frac{2a_{k+1}}{t_1^{n+1}} - a_n + |a_n|) \right\}.$$
(8)

Remark 1. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$$

be a polynomial of degree n with real and positive coefficients .Taking k=n in Theorem 1.1 and noting that $(|a_0| - a_0) = 0$, $(|a_n| - a_n) = 0$, . So that

$$\frac{1}{|a_n|}(\frac{2a_k}{t_1^{n-k}}-a_n) = \frac{2a_n-a_n}{|a_n|} = \frac{a_n}{|a_n|} = 1.$$

It follows that all the zeros of P(z lie in $|z| \le t_1$. which is precisely Theorem C.

Remark 2. If we take $t_2 = 0$ and . If $t_1 = t$ in Theorem 1.1 we get Theorem E. Next, we shall present the following extension of Theorem E.

http://www.ijesrt.com

Theorem 1.2. . Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

be a polynomial of degree n, such that for some t>0 and $0 \le k \le n$,

$$a_{n-1}t^{n-1} \le a_{n-2}t^{n-2} \le \dots \le t^{k-1}a_k \ge t^k a_{k+1} \ge \dots \ge a_2t \ge a_1$$
(9)

and if a_0 is any real or complex number, then all the zeros of P(z) lie in the circle

$$|z| \le \frac{t}{|a_n|} \left\{ (\frac{2a_k}{t^{n-k}} - a_n) + \frac{1}{t^n} (|a_0| - ta_1 + |ta_1 - a_0|) \right\}.$$
 (10)

Remark 3. If a_0 is real such that $a_1 \ge \frac{a_0}{t}$, then we immediately get theorem E.

If we take t=1 and k=n in Theorem 1.2, we get the following result:

Corollary 1. Let

$$P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0,$$

be a polynomial of degree n such that

$$a_n \ge a_{n-1} \ge \dots \ge a_1 \ge a_0$$
,

and if a_0 is any real or complex number, then all the zeros of P(z) lie in

$$|z| \le \frac{a_n - a_0 + |a_0| + |a_1 - a_0|}{|a_n|}$$

If $a_1 \ge a_0$, then corollary 1 reduces to Theorem D.

For the proofs of these theorems we need the following lemma ,which is due to Aziz and Mohammad[2].

Lemma. Let

$$P(z) = a_n z^n + a_p z^p + \dots + a_1 z + a_0 \qquad 0 \le p \le n - 1,$$

be a polynomial of degree n with complex coefficients, then for every real number r , all the zeros of P(z) lie in the circle

$$\left|z\right| \leq Max\left\{r, \sum_{j=0}^{p} \frac{a_{j}}{a_{n}} \frac{1}{r^{n-j-1}}\right\}.$$

Proofs of Theorems

Proof of Theorem 1.1. Consider the polynomial

$$\begin{split} G(z) &= (t_1 - z)(t_2 - z)P(z) \\ &= (t_1t_2 + (t_1 - t_2)z - z^2)(a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0) \\ &= \frac{-a_n z^{n+2} + \{(t_1 - t_2)a_{n-1} - a_{n-2}\}z^{n+1} + \dots + \{a_2t_1t_2 + (t_1 - t_2)a_1 - a_0\}z^2}{+\{a_1t_1t_2 + (t_1 - t_2)a_0\}z + a_0t_1t_2} \\ &= -a_n z^{n+2} + \sum_{j=0}^{n+1} \{a_jt_1t_2 + (t_1 - t_2)a_{j-1} - a_{j-2}\}z^j \quad , (a_{-1} = a_{n+1} = 0) \end{split}$$

Since G(z) is a polynomial of degree n+2. Applying the above lemma, it follows that all the zeros of G(z) lie in the circle

http://www.ijesrt.com

$$|z| \leq Max \left\{ t_1, \sum_{j=0}^{n+1} \frac{a_j t_1 t_2 + (t_1 - t_2) a_{j-1} - a_{j-2}}{|a_n|} \frac{1}{t_1^{n-j-1}} \right\}.$$

Now,

$$\sum_{j=0}^{n+1} \frac{a_j t_1 t_2 + (t_1 - t_2) a_{j-1} - a_{j-2}}{|a_n|} \frac{1}{t_1^{n-j-1}}$$

$$= \frac{1}{|a_n|} \left| \sum_{j=0}^{n+1} \left[\frac{a_j t_2}{t_1^{n-j}} + \frac{a_{j-1}}{t_1^{n-j}} - \frac{a_{j-1} t_2}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right] \right|$$

$$= \frac{1}{|a_n|} \left| \sum_{j=0}^{n+1} t_2 \left[\frac{a_j}{t_1^{n-j}} - \frac{a_{j-1}}{t_1^{n-j+1}} \right] + \sum_{j=0}^{n+1} \left[\frac{a_{j-1}}{t_1^{n-j}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right] \right|$$

$$= t_1$$

Since

$$\begin{split} t_{1} &= \left| \sum_{j=0}^{n+1} \frac{a_{j}t_{1}t_{2} + (t_{1} - t_{2})a_{j-1} - a_{j-2}}{\left|a_{n}\right|} \frac{1}{t_{1}^{n-j-1}} \\ &\leq \sum_{j=0}^{n+1} \left| \frac{a_{j}t_{1}t_{2} + (t_{1} - t_{2})a_{j-1} - a_{j-2}}{\left|a_{n}\right|t_{1}^{n-j-1}} \right| \end{split}$$

But

 $\frac{t_2}{|a_n|}$

$$\begin{split} & \left| \sum_{j=0}^{n+1} \frac{a_j t_1 t_2 + (t_1 - t_2) a_{j-1} - a_{j-2}}{|a_n|} \frac{1}{t_1^{n-j-1}} \right| \\ & \leq \frac{1}{|a_n|} \sum_{j=0}^{n+1} t_2 \left| \frac{t_1 a_j}{t_1^{n-j+1}} - \frac{a_{j-1}}{t_1^{n-j+1}} \right| + \sum_{j=0}^{n+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| \\ & = \sum_{j=0}^{k+1} \frac{t_2}{|a_n|} \left| \frac{t_1 a_j}{t_1^{n-j+1}} - \frac{a_{j-1}}{t_1^{n-j+1}} \right| + \sum_{j=k+2}^{n+1} \frac{t_2}{|a_n|} \left| \frac{t_1 a_j}{t_1^{n-j+1}} - \frac{a_{j-1}}{t_1^{n-j+1}} \right| \\ & + \sum_{j=0}^{k+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| + \sum_{j=k+2}^{n+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| \\ & = \sum_{j=0}^{k+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| + \sum_{j=k+2}^{n+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| \\ & = \sum_{j=0}^{k+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{k-1}}{t_1^{n-j+1}} - \frac{a_{k-1}}{t_1^{n-j+1}} \right| + \sum_{j=k+2}^{n+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-j+1}} - \frac{a_{j-2}}{t_1^{n-j+1}} \right| \\ & = \sum_{j=0}^{k+1} \frac{1}{|a_n|} \left| \frac{t_1 a_{j-1}}{t_1^{n-1}} - \frac{a_{k-1}}{t_1^{n-k}} - \frac{a_{k-1}}{t_1^{n-k+1}} + \frac{a_{k+1}}{t_1^{n-k+1}} - \frac{a_{k+2}}{t_1^{n-k+2}} + \dots + \frac{a_{n-2}}{t_1^{n-k+2}} - \frac{a_{n-1}}{t_1} - \frac{a_{n-1}}{t_1} - a_n + |a_n| \right| \right\} + \\ & = \frac{1}{|a_n|} \left| \frac{|a_0|}{t_1^{n-1}} + \frac{a_1}{t_1^{n-2}} - \frac{a_0}{t_1^{n-1}} + \dots + \frac{a_k}{t_1^{n-k-k}} - \frac{a_{k-1}}{t_1^{n-k+1}} + \frac{a_{k+1}}{t_1^{n-k}} - \frac{a_{k+2}}{t_1^{n-k+1}} + \dots + \frac{a_{n-2}}{t_1} - a_{n-1} + a_{n-1} - a_n t \right| \right\}$$

$$\frac{1}{|a_n|} \left\{ \frac{|a_0|}{t_1^{n-1}} + \frac{a_1}{t_1^{n-2}} - \frac{a_0}{t_1^{n-1}} + \dots + \frac{a_k}{t_1^{n-k-k}} - \frac{a_{k-2}}{t_1^{n-k+1}} + \frac{a_{k+1}}{t_1^{n-k}} - \frac{a_{k+2}}{t_1^{n-k+1}} + \dots + \frac{a_{n-2}}{t_1} - a_{n-1} + a_{n-1} + \dots + \frac{a_{n-2}}{t_1^{n-k+1}} + \dots + \frac{a_{n-2}}{t_1^{n-k}} - \frac{a_{n-1}}{t_1^{n-k}} + \dots + \frac{a_{n-2}}{t_1^{n-k}} - \frac{a_{n-1}}{t_1^{n-k}} + \dots + \frac{a_{n-2}}{t_1^{n-k}} + \dots + \frac{a_{$$

http://www.ijesrt.com

© International Journal of Engineering Sciences & Research Technology

$$= \left\{ t_1(\frac{2a_k}{t_1^{n-k}} - a_n) + \frac{(t_1 + t_2)}{t_1^n} (|a_0| - a_0) + t_2(\frac{2a_{k+1}}{t_1^{n+1}} - a_n + |a_n|) \right\}$$

Since all the zeros of P(z) are also the zeros of G(z), it follows that all the zeros P(z) lie in the circle defined by (8) and this completes the proof of Theorem 1.1.

Proof of Theorem 1.2. Consider the polynomial

$$F(z) = (t - z)P(z)$$

= $-a_n z^{n+1} + (ta_n - a_{n-1})z^n + \dots + (ta_1 - a_0)z + a_0 t$
= $-a_n z^{n+1} + \sum_{j=0}^n (ta_j - a_{j-1})z^j$ $(a_{-1} = 0)$

Since F(z) is a polynomial of degree n+1, using the above lemma to F(z) with p=n and r=t, it follows that all the zeros of F(z) lie in the circle

$$\begin{aligned} |z| &\leq Max \left\{ t, \sum_{j=0}^{n} \frac{|ta_{j} - a_{j-1}|}{|a_{n}|} \frac{1}{t^{n-j}} \right\} \\ &= \sum_{j=0}^{n} \frac{|ta_{j} - a_{j-1}|}{|a_{n}|} \frac{1}{t^{n-j}} \end{aligned}$$

Since

$$\begin{aligned} & \mathsf{t}= \ \left|\sum_{j=0}^{n} \frac{(ta_{j}-a_{j-1})}{|a_{n}|} \frac{1}{t^{n-j}}\right| & \leq \sum_{j=0}^{n} \frac{|ta_{j}-a_{j-1}|}{|a_{n}|} \frac{1}{t^{n-j}} \\ & = \sum_{j=0}^{k} \frac{|ta_{j}-a_{j-1}|}{|a_{n}|} \frac{1}{t^{n-j}} + \sum_{j=k+1}^{n} \frac{|ta_{j}-a_{j-1}|}{|a_{n}|} \frac{1}{t^{n-j}} \\ & = \frac{t}{|a_{n}|} \left\{ (\frac{2a_{k}}{t^{n-k}}-a_{n}) + \frac{1}{t^{n}} (|a_{0}|-ta_{1}+|ta_{1}-a_{0}|) \right\} \text{ (by hypothesis)} \end{aligned}$$

Hence all the zeros of F(z) lie in

$$|z| \le \frac{t}{|a_n|} \left\{ (\frac{2a_k}{t^{n-k}} - a_n) + \frac{1}{t^n} (|a_0| - ta_1 + |ta_1 - a_0|) \right\}$$

As all the zeros of P(z) are also the zeros of F(z), the result follows and hence Theorem 1.2 is proved completely.

REFERENCES

http://www.ijesrt.com

- 1. A.Aziz and Q.G.Mohammad, On the zeros of certain class of polynomials and related analytic functions, J.math. Anal. Appl. 75(1980), 493-501.
- 2. A.Aziz and Q.G.Mohammad,zero-Free regions for polynomials and some generalizations of Enestrom-Kakeya Theorem, Canad.Math.Bull.27(1984),265-272.
- 3. G.T.Cargo and O. Shisha, Zeros of Polynomials and fractional orde differences of their coefficients, J.Math.Anal.appl.7(1963), 176-182.
- 4. K.K.Dewan and N.K.Govil, On the Enestrom-Kakeya Theorem j.math. Anal. Appl. 182(1993), 29-36.
- 5. G.Enestrome, Remarque sur un the'or'eme' relatif aux racines de 1' equation $a_n x^n + a_{n-1} x^{n-1} + \dots + a_1 x + a_0 = 0$ ou'tous les coefficients a sont ree'ls et positifs Tohoku Math. J 18(1920).34-36.
- 6. N.K.Govil and Q.I.Rahman, On the Enestrom Kakeya Theorem. Tohoku Math.J.20(1968), 126-136.

© International Journal of Engineering Sciences & Research Technology

- 7. A.Hurwitz, Uber einen satz des Herrn Kakeya, Tohoku Math.J.4 (1913-14), 89-93.
- 8. A.Joyal G.Labelle and Q.I.Rahman, On the Location of zeros of Polynomials, Canad. Math.Bull. 10(1967), 53-63.
- 9. S.Kakeya, on the limits of the roots of an algebraic equation with positive coefficients, Tohoku Math.J.2 (1912-13), 140-142.
- 10. P.V.krishnala, On Enestrom kakeya Theorem, J.london Math.Soc. 30(1955), 314-319.
- 11. M.Marden, Geometry of polynomials, IInd Ed. Math.surveys 3, Amer. Math.soc.providence 1966.